GEORGIAN SECONDARY SCHOOL 

BIOLOGY CAT FORM THREE TERM III 2017

1. a) Define the following terms as used in ecology :

I. Biosphere.   1mk

I. Habitat.   1mk

I. population.   1mk

I. Synecology.   1mk

I. Carrying Capacity.  1mk

b ) The following data was obtained from the field study. Use it to answer the question that follow:

I. What do you understand by the term ecologically balanced.    1mk

I. Using similar steps in construction of pyramid of number construct a pyramid of Biomass for the given data 3mks

c) To estimate the population size of the mosquitoes in Arabuko Sokoko Village,Kemri,caught 400 mosquitoes which they marked and release. After 24 hrs,200 mosquitoes were caught out of which 80 had the marks.

I. Suggest the possible instrument that max have been used for capturing and marking the mosquitoes 1mk

I. Estimate the population size of Mosquitoes in the village.   3mks

I. State two assumptions Madevwhen using capture-recupture method.  2mks

2. A student at Georgian High School,Nakuru picked an organism by the shore of Lake Nakuru during fiel study. After examining it carefully,dhe formed an opinion the organism belong to class Archnida. 

   She then classified it as follows :

Kingdom: Animalia 

Phylum:  Arthropods 

Class: Arachnida

a. Identify one mistake in her classification.        1mk

a. List down 3 characteristics that she used in placing the organism in;         3mks

I.   Kingdom. Animalia 

I. Class Arachnida 

3. The graph below shows the effect of changing substrate concentration on the rate of enzyme action

a. Account for the shape of the graph between 

I. X and Y.            1mk

I. Y and Z.           1mk

a. What is the limiting factors between

I. point X and Y.     1mk

I. point Y and Z

a. How can the rate of reaction can be increased from point Y.    1mk

a. Apart from substrate concentration,state three other factor that could affect the rate of enzyme reaction.         3mks

4. State five ways in which the red blood cells are adapted to their functions.          5mks

